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Assertions: Weak vs. Strong
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Assertions: Preconditions

withdraw_v1(amount: INTEGER)
    require 
      P1: amount > 0

withdraw_v2(amount: INTEGER)
    require 
      P2: amount ≥ 0
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Assertions: Postconditions

f1(i: INTEGER): BOOLEAN
    ensure 
      Q1: Result = (i > 0) ∨ (i mod 2 = 0)

f2(i: INTEGER): BOOLEAN
    ensure 
      Q2: Result = (i > 0) ∧ (i mod 2 = 0)
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Program Correctness: Example (1)
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Program Correctness: Example (2)
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Hoare Triple as a Predicate
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Program Correctness: Revisiting Example (1)
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Program Correctness: Revisiting Example (2)
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Rules of Weakest Precondition: Assignment
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Correctness of Programs: Assignment (1)
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